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1. (15 points) Let A, B and C be independent and variables, and their mean (E(.)) and variance |
(Var(.)) are as follows.

E(A<1  Var(A)y=3
E(B)=4 Var(B)=7
E(C)=3 Var(C)=2

What is the mean and variance of
(1) X=3A+4B (2) Y=B-3C (3)Z=X+Y

2. (10 points) If Var(A)=16, Var(B)=9 and Cov(A,B)= -6, please find
(1) The correlation coefficient between A and B
(2) The correlation coefficient between (3A+2) and (2B-1)

3. (12 points) Suppose that a random sample of eight observations is taken from a Normal
Distribution for which both the mean 1 and the variance o° are unknown. And suppose that the
observed values are 3.1, 3.5, 2.6, 3.4, 3.8, 3.0, 2.9, 2.2. |
Please find the shortest confidence interval for p ando” with confidence level of 95%.

4. (5 points) A random sample of n=50 observations from a population produced a mean
X =875 and s=21. , |
Test the hypothesis that u=880 against the alternative that y is either greater or less than 880 g
with confidence level of 95%. _ _ -
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a=.025 Z=1.96; t(8)=2.306; t(7)=2.365; *(8)=17.8346; y*(7)=16.0128

a=.05  Z=1.645; t(8)=1.86; t(7)=1.895; £’(8)=15.5073; {’(7)=14.0671
=1 Z=1.2815; t(8)=1.397; t(7)= 1.415

a=.975 ¥¥(8)=2.17973; ¥%(7)=1.68987

0=.950 1*(8)=2.73264; ¥} (7)=2.16735
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6. FEBYERIEL S (Exchange Traded Funds » ETF)eh » Bk & ELEE SO(LA T EHEEE SO)R
2003/06/30 L1 » REEBETIEE YRGS Ko RREEEES TP
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%A BHEE330) W37 KEEQ48) mEE(1303) HE(1301)

HEHE 50 FEBEE 15.01% 8.92% 7.36% 5.44% 4.80%
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201001 -6.3065 6.9228 -4.7627 -11.9022 -15.1425 2.8743  -1.0456
201002 -2.7739 -2.7109 -4.4896 -5.7376 2.8170 5.6696 3.8296
201003 5.1051 6.3052 4.4895 7.9437 13.5458 2.0265 1.1495
201004 1.0088 1.0574 0.4866 7.6962 13.2351 2.1376 0.0001
201005 . -8.9669 -8.2015 2.6230 -17.6279 ,  2.6793 224276  -8.0281
201006 -1.1038 -0.6068 0.6622 -8.8106 -1.1562 22.2947 5.1291
201007 8.4149 57174 7.8137 12.3612 40.7145 12.1280 3.9964
201008 -1.1196 -1.8775 57725 -0.4264 -0.5117 9.1433 5.9482
201009 7.9320 7.8443 5.1292 3.9050 19.2245 = 10.1470 7.7221
201010 0.8558 ————0:5968""" 1.2822 112847 2.5716 02927  13.5160
201011 1.9452° 1.0251 0.9508 -6.6840 20.1196 -0.4411 3.2495
201012 7.2603 6.9214 11.3219 7.9687 6.3057 6.8306  7.2296
ALl 12.2514 9.1481 14.4883 -12.5986  99.2595 25.5008  42.6964
iy 1.0210 0.7623 1.2074 -1.0499 8.2716 2.1251 3.5580
SR 30.5337 27.6242 27.6796 86.3741 205.6411 80.3401  28.4014
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a=.025 F(10, 11) =3.5257; F(10, 12) = 3.3736; F(11, 11) = 3.

4737; F(12, 12) =3.2773; F(13, 13) =3.1150

a=.05 t(11)=2.2010; t(12) = 2.1788; t(22) = 2.0739; t(23) = 2.0687; t(24) 2.0639; F(4, 4) = 6.3882; F(4, 55) =
2.5397; F(4, 60) = 2.5252; F(5, 55) = 2.3828; F(5, 60) = 2.3683; F(10, 11) = 2.8536; F(10, 12) =2.7534; -

F(11, 11) =2.8179; F(12, 12) = 2.6866; F(13, 13) = 2.

5769

a=.1 t(11) = 1.7959; 1(12) = 1.7823; t(22) = 1.7171; t(23) = 1.7139; t(24) = 1.7109

a=.975 F(10, 11) = .2729; F(10, 12) = .2762; F(11, 11) = .287

9; F(12, 12) = .3051; F(13, 13) = .3210

(1) (20 points) /RENEREHERSIVELERE  REGNEMREEEEEZR'E

¥ IR SRRy SST = 5,292.6933; SSE = 4,71
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